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(a)

Section A : Electrical and Electronic Measurements

What is a Digital Voltmeter? What are its merits? Explain Ramp type digital voltmeter
technique along with suitable block diagram. Also show the functioning of ramp type
DVM with the help of timing diagram.
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Q.1(b)| A single phase, watt-hour meter has a constant load of 6 A at 230 V passing through it
for 10 hours at unity power factor. If the meter constant is 520 revolutions per kWh,
how many revolutions does the meter disc makes during this period? If the same meter
makes 1722 revolutions when operated at 230 V and a constant load of 9 A passing

through it for certain duration with a power factor of 0.707, determine the duration of
operation of the meter in hour.
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Q.1 (¢

The coil of a 150 V moving iron voltmeter has a resistance of 400 Q and an inductance of

0.75 H. The coil is made of copper which has a resistance temperature coefficient of

0.004/°C. The current consumed by the instrument when placed ona 150 V dc supply is

0.05 A. The series resistance of the voltmeter is of Manganin with a resistance temperature

coefficient 0.00015/°C. Estimate:

(i) The temperature coefficient of the instrument.

(ii) The alternation of the reading between direct current and alternating current at
100 Hz.

(iii) The capacitance of the capacitor necessary to eliminate the frequency error.
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Q.1(d)

A dynamometer ammeter is fitted with two fixed coils having a total resistance of 3.0 Q
and a total inductance of 0.12 H, and a moving coil of resistance 30 2 and an inductance
of 0.003 H. Calculate thé error in reading when the instrument is calibrated with d.c.
and used on a.c. 50 Hz with moving coil shunted directly across the field coils. Comment
upon the results.

[12 marks]
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Q.1 (e)| An electrostatic voltmeter is constructed with six parallel, semicircular fixed plates

equivalent is 4 mm intervals and 5 interleaved semicircular movable plates that move
in planes midway between the fixed plates in air. The movement of the movable plates
is about an axis through the center of the circles of the plates system perpendicular to
the planes of the plates. The instrument is spring-controlled. If the radius of the movable
plates is 40 mm calculate the spring constant if 10 kV corresponds to a full-scale deflection

of 100°. Neglect fringing edge effects and plate thickness. The permittivity of air is
8.85 x 102 F/m.

[12 marks]
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Q.2 (a)

(i) The power flowing in a 3-phase, 3-wire balanced load system is measured by two
wattmeter method. The reading of wattmeter-A is 9000 W and of wattmeter-B is
~1800 W. |
1. What is the power factor of the system?

2. If the voltage of the circuit is 440 V, what is the value of capacitance which must
be introduced in each phase in series, which causes the whole of the power
measured to appear on wattmeter A? (The frequency is 60 Hz).

[14 marks]
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(ii) Ina Maxwell’s bridge, the fixed - value bridge components have the following values:
R,=58, C=1mF
If R, =159 Q and R, = 10 Q at balance then find the Q-factor for the unknown
impedance (L, and R, unknown impedance) at a supply frequency of 50 Hz.
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Q.2 (b)

(i) A current transformer having a 1 turn primary is rated at 500/5 A, 50 Hz with an
output of 15 VA. At rated load with non-inductive burden, the inphase and
quadrature components (referred to the flux) of the exciting mmf are § and 10 A
respectively. The number of turns in the secondary is 98, and the resistance and
leakage reactance of the secondary winding are 0.35 Q and 0.3 Q respectively.
Calculate the ratio and phase angle error.

(if) What are the advantages and disadvantages of PMMC instruments?

[12 + 8 marks]
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Q.2 (c)

(i) An ac bridge with terminals ABCD has following components:
Arm AB : A resistance of 800 € in parallel with a capacitor of 0.5 pF.
Arm BC : A resistance of 400 Q in series with a capacitor of 1 pF.
Arm CD : A resistance of 1000 Q
Arm DA : A pure resistance R.
Find the value of the frequency at which the bridge will balance.

(ii) A moving coil instrument whose resistance is 25 € gives a full scale deflection with
a voltage of 25 mV. This instrument is to be used with a series multiplier to extend
its range to 10 V. Calculate the error caused by 10°C rise in temperature. (The
temperature coefficient of copper is 0.004/°C and that of manganin is 0.00015/°C).

[12 + 8 marks]
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Q.3 (a)

A PMMC voltmeter with resistance of 25 Q has a full scale deflection of 150° for a voltage
of 90 mV across it. The coil dimensions are 25 mm x 25 mm having number of turns
equal to 120. Current carrying turns are made of conductor with specific resistivity
=1.7 x 10 Q-m. The control spring constant is 0.45 x 10-° N-m/ degree. The coil resistance
is 40% of total instrument resistance. The value of diameter of conductor wire used in

coil winding and flux density in air gap will be respectively
[20 marks]
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Q.3 (b)

(i) A current transformer has a single turn primary and 400 turns on secondary winding.
The resistance and reactance of the secondary circuit are 2 Q and 3 Q respectively
including transformer winding. When 6 A current is flowing in the secondary
winding, the magnetizing mmf is 100 AT and iron loss is 2 W, find the value of ratio
error.

(ii) Give a generalized diagram of digital data acquisition system. Also explain the
various components and their functions.

[14 + 6 marks]
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Q.3 (0)

Explain in detail the working principle of linear variable differential transducer (LVDT).

Write down its advantages.
[20 marks]
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@)

B
(1) The variable A’ is related to three other variables B, Cand Das A = D . The variables

B, C and D are measured with meters of accuracy + 0.5% of reading, +1.2% of full
scale value and +1.5% of reading respectively. If actual readings are respectively 90,
20 and 60 with 100 being full scale value for B, C and D, then find the maximum
limiting error in reading of A.

(i) Derive the expression for force developed by an electrostatic instrument.
[12 + 8 marks]
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Q.4(b)| Calculate the value of the shunt resistors for the circuit shown below:
L,=100pA
1A 100 mA 10 mA
[20 marks]
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(i) A dynamometer type wattmeter with pressure coil angle of 2° measure 800 W for
1 - ¢ inductive load supplied by 230 V. If this wattmeter is replaced by another
wattmeter with pressure coil angle 1° reading obtained is 640 W, find the value of
current drawn by load.

(ii) Calculate the constants of a shunt to extend the range of 0-5 A moving iron armature
to 0 - 50 A. The instrument constants are R = 0.09  and L = 90 mH. If the shunt is
made non-inductive and the combination is correct on d.c., find the full scale errors
at 50 Hz.

[10 + 10 marks]
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Section B : Electrical Materials

(a)| Consider a parallel-plate capacitor having an area of 6.45 x 10 m? and a plate separation
of 2 x 10~ m across which a potential of 10 V is applied. If a material having a dielectric
constant of 6.0 is positioned within the region between the plates, compute:

(i) The capacitance.

(ii) The magnitude of the charge stored on each plate.
(iii) The dielectric displacement D.

(iv) The polarization.
[12 marks]
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(b)| What is magnetic anisotropy? Explain the importance of m
transformer cores.
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(i) The Burgers vector of a mixed dislocation line is %[1 1 0]. The dislocation line

lies along the [I 1 2] direction. Find the slip plane on which this dislocation lies.

(ii) Explain, why end centered tetragonal geometry does not exist.

[8 + 4 marks]
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(d)

is reduced to 800 A/m, B =2.8 Wb/ m?, calculate the change in Magnetization M.
[12 marks]
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Molybdenum has the BCC crystal structure, a density of 10.22 gecm™ and an atomic
mass of 95.94 g molL. Find the atomic concentration, lattice parameter 4 and atomic

radius of molybdenum.

[12 marks]
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Define dielectric strength. Discuss different types of dielectric breakdowns in solids.
[20 marks]
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Q.6(b)| (i) The resistivity of a doped silicon sample is 9 x 10-3 Qm. The hall coefficient was
measured to be 7.2 x 104 m3 columb™. Assuming single carrier conduction, find the
mobility and density of charge carrier.

(ii) What are type-I and type-II superconductors? Draw the magnetization versus
magnetic field characteristic for type-I and type-II superconductors. Why

superconductivity is observed for signals upto radio frequencies?

[12 + 8 marks]
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(i) Explain the features of soft-magnetic materials with suitable examples and uses.

(ii) A material with magnetic property such that when it was placed in a magnetic
field, B = 4 Wb/m?, magnetic field intensity was found to be 4800 A/m. If H is
reduced to 640 A/m and B = 1.8 Wb/m?, then calculate the percentage change in
magnetization M of the material.

[8 + 12 marks]
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Q.7 (a)

Explain the phenomenon of superconductivity. Briefly explain its salient features,
mechanism and applications.
The periphery of a copper disk 50 cm in radius and 10~ mm in thickness is maintained
at a potential of 50 V. A thin rod 1 cm in radius is soldered to the disk at its centre (at
right angles to the plane of the disk) and maintained at a potential of 49 V. If the resistivity
of copper is 1.7 x 1078 Qm, calculate the current through the disk.

[20 marks]
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(i) What is magnetoresistance effect? Calculate the current produced in a small
germanium plate of area 1 cm? and thickness 0.3 mm when a potential difference of
2V is applied across the faces.

(Given: Concentration of free electrons in germanium is 2 x 10!/ m3 and mobilities
of electrons and holes are 0.40 m?/V-sec and 0.20 m?/V-sec respectively).

(ii) Explain why end-centred tetragonal geometry does not exist in Bravais crystal

structures.
[12 + 8 marks]
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Q.7 ()

Explain briefly the polarization occurring in dielectric materials. What are different types
of polarization occurring in dielectric material?

If a dielectric material contains 3.2 x 10 polar molecules/ m? and the relative permittivity
of material is € = 2.4 with applied external electric field E = 10*z, V/m , then calculate

the value of polarization and dipole moment in each molecule. (Consider all molecules
have same dipole moment).

[20 marks]
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(i) Derive the Clausius-Mossotti equation in case of non polar dielectric material in
presence of dc field relating polarization (o) and dielectric constant of the material.
Take number of molecules per unit volume of dielectric ‘N ".

(ii) The Hall coefficient of a certain silicon specimen was found to be -8.25 x 10 m3/C at
300° K. If the conductivity is 2.50 U /cm, then find :
1. type of semiconductor.
2. density of charge carrier.
3. mobility of charge carrier.
[10 + 10 marks]
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(i) Differentiate between different types of magnetic materials on the basis of magnetic
dipoles and hysteresis loops.

(ii) The following data refers to a dielectric material having €, = 4.94, n?=2.69, where n
is the index of refraction. Calculate the ratio between electronic and ionic polarization

for this material.
[12 + 8 marks]
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Q38 ()

(i) A ferromagnetic material of 20 kg mass and 7200 kg/m? density is subjected to an

AC supply of 60 Hz frequency. The hysteresis loop area of the material is 180 cm?.
The scale factors on ordinate and abscissa are 1 cm = 0.004 Wb/m? and
1 cm = 10 AT/m respectively. Calculate the energy loss per hour in the specimen
due to the hysteresis phenomena in the specimen.

(i) What is a soft magnetic material? Give examples of soft magnetic materials and list

(')
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their applications.

[10 +10 marks]
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